DIvISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH 1 TO 10 1;;1 Soomer |
15) 867 = 6 = 196) 10370 -4 =
12) 12916 — 8§ = 197 10697 = 3 =
183) 22949 + 5 = 95 9488 + 1 =
181) 649228 = 8§ = 199) 84158 +— 9 =
185) 4147 — 5 = 2000 18312+ 9 =
156 10845 + 6 = 00 8347 +3 =
187) 174 =3 = 202) 603 + 8 =
188) 47394 = 7 = 203) 56295 =+ 9 =
189) 24822 = 4 = 209 26029 -4 =
190 96329 + 10 = 09 1521 +4 =
191) 8268 =— 1 = 2000 72312 =9 =
192) 95501 = 7 = 207 60945 — 7 =
193) 7090 = 5 = 208) 32448 = 4 =
199) 67957 = 7 = 209 30267 =6 =
195 7616 =— 1 = 2100 19932 -4 =
Mathematics: Division - Level § - Horizontal - Set 5 8 culu
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